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CA, ABIZFTALZEROEZIAZD, E, F&35,
AF=p, BD=q &£ B & &, ROMIZE X,

(1) CE, AE DR X%k X,

(2) AP, BP, CPOEX%#RD L,

(3 DE, EF, FDOE X%k X,

(4) ADEF OmifEz Red X,

(56) ADEF O D% KD X,

BC,

(fi#)
(1) CE= w,

2(p+g)-a
2

AE=

Ja? —2a(p+2q)+4(p? + pg+q?)
N ,

(2) AP=

2\/a2 —2a(2p+q)+ p? +pq+q°
NE)

BP=

\/7a2 —2a(4p+5q)+4(p2 +pq +q2)
NE)

CP=

J3 J7a’ —2a(4p+5q)+4(p +pg+q )

(3) DE= —CP=
2 2

V3 \/a —2a(p+2q)+4 (p2+pq+q2)

EF= —AP—
2 2

FD= gBPz JaZ?—2a(2p+q)+ p® + pq+q?

J3

(4) ADEF= ?\az —3a(p+q)+2(p?+ pq +q2)
(5) ADEF D 5%

V3’ —3a(p+q)+ 2(p? + pg +q2]

2{\/7a2 —2a(4p+5q)+4(p? + pq+q?)++a? —2a(p+2q)+4(p? + pq+q? )+ 2,/a> —2a(2p +q)+ p* + pg+q? }
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